

July 23, 2019

Ms. Kirsten Walli Board Secretary Ontario Energy Board P.O. Box 2319, 27th Floor 2300 Yonge Street Toronto, ON M4P 1E4

Re: Hydro One Sault Ste. Marie LP (formerly Great Lakes Power Transmission LP)

AMPCO Cost Claim

Board File No. EB-2018-0218

Dear Ms. Walli:

Attached please find AMPCO's cost claim in the above proceeding. AMPCO has filed two OEB cost claim forms to reflect a change in hourly rate for AMPCO's consultant between 2018 and 2019. The total value of the cost claim is 21,811.83.

Please do not hesitate to contact me if you have any questions or require further information.

Sincerely yours,

(Original Signed By)

Colin Anderson President Association of Major Power Consumers in Ontario

Copy to: Hydro One Sault Ste. Marie LP



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

			Instructions	
- All claims m - A separate Disbursemen However, on - The cost cla - A CV for each	nust be in Canadian "Detail of Fees and its Being Claimed") ly one "Summary one im must be support ch consultant/anal	n dollars. If applicable, state of Rate d Disbursements Being Claimed) is required for each lawyer, a of Fees and Disbursements" co rted by a completed Affidavit lyst must be attached unless p	exchange rate and country : d" (comprising a "Statemen analyst/consultant and artic evering the whole of the pa signed by a representative rovided to the Board as pre	Country: t of Fees Being Claimed" and a "Statement of ling student/paralegal. rty's cost claim should be provided.
File # EB-	2018-0218		Process: Hydro One	Sault Ste. Marie LP 2019 Transmission
Party:	AMPCO		Affiant's Name:	
HST Numbe	er: <u>R1376674</u>	24	нѕт	Rate Ontario: 13.00%
		Full Registrant Unregistered Other	Qualify	ring Non-Profit Tax Exempt
			A ffi do	
			Affidavit	
in the Prov	vince/State of		_, of the City/Town of	, swear or affirm that:
1. I am a reproperties of the state of the s	resentative of the a mined all of the do d", "Statement(s) o ned "Summary of Fo nts Being Claimed" gy Board process r laim does not inclu	ocumentation in support of thi of Fees Being Claimed" and "S ees and Disbursements Being include only costs incurred an referred to above.	is cost claim, including the a tatement(s) of Disburseme Claimed", "Statement(s) of ad time spent directly for th or time spent, by a person t	edge of the matters attested to herein. attached "Summary of Fees and Disbursements
Signature (of Affiant			
Sworn or a	affirmed before	e me at the City/Town of		
	vince/State of		, on	(date)

Commissioner for taking Affidavits



Affidavit and Summary of Fees and Disbursements

File # EB-	2018-0218		Process: Hydro One Sault Ste. Marie LP 2019 Transmission
Party:	АМРСО		
	Si	ummary of Fees a	and Disbursements Being Claimed
Legal/con:	sultant/other fees	\$	6,597.50
Disbursem	nents	\$	-
HST		\$	857.68
Total Cost	Claim	\$	7,455.18

Payment Information

Make cheque payable to: Association of Major Power Consumers in Ontario

Send payment to this address: 65 Queen Street West, Suite 1510

Toronto, Ontario

M5H 2M5



Detail of Fees and Disbursements Being Claimed

File # EB-	2018-0218			Process:	Hydro One Sau	ılt Ste. Marie LP	2019 Transm	ission
Party:	АМРСО			Service P	rovider Name:	Shelley Grice, F	P. Eng.	
				Year Called to		Complete Practising/Year		
	SERVICE PROVIDER TYPE	(che	ck one)	Bar		Experie		
	Legal Counsel					19)	
	Articling Student/Paralegal				•			
	Consultant		$\overline{\checkmark}$			Hourly Rate:	\$290	
	Analyst					_		•
	For Consultant/Analyst:		CV attac	ched	HST Rate Ch	narged (enter %):	13.0%	
		✓	CV prov	ided within previo	us 24 months			•

S	tatement o	of Fe	es Being	Cla	imed				
	Hours		urly Rate	_	Subtotal HST			Total	
Pre-hearing Conference			-						
Preparation		\$	290.00	\$	-	\$	-	\$	-
Attendance		\$	290.00	\$	-	\$	-	\$	-
Technical Conference									
Preparation		\$	290.00	\$	-	\$	-	\$	-
Attendance		\$	290.00	\$	-	\$	-	\$	-
Interrogatories									
Preparation	21.25	\$	290.00	\$	6,162.50	\$	801.13	\$	6,963.63
Responses	1.50	\$	290.00	\$	435.00	\$	56.55	\$	491.55
Issues Conference									
Preparation		\$	290.00	\$	-	\$	-	\$	-
Attendance		\$	290.00	\$	-	\$	-	\$	-
ADR - Settlement Conference									
Preparation		\$	290.00	\$	-	\$	-	\$	-
Attendance		\$	290.00	\$	-	\$	-	\$	-
Proposal Preparation		\$	290.00	\$	-	\$	-	\$	-
Argument									
Preparation		\$	290.00	\$	-	\$	-	\$	-
Oral Hearing									
Preparation		\$	290.00	\$	-	\$	-	\$	-
Attendance		\$	290.00	\$	-	\$	-	\$	-
Other Conferences									
Preparation		\$	290.00	\$	-	\$	-	\$	-
Attendance		\$	290.00	\$	-	\$	-	\$	-
Case Management				\$	-	\$	-	\$	-
TOTAL SERVICE PROVIDER FEES				\$	6,597.50	\$	857.68	\$	7,455.18

Shelley Grice, P. Eng.

46 Scarborough Road, Toronto ON M4E 3M5 416-694-3917, shelley.grice@rogers.com

INVOICE #A1908

July 23, 2019

AMPCO
Thomson Building
65 Queen Street West, Suite 1510
Toronto, Ontario M5H 2M5

Attention: Mr. Colin Anderson, President

Re: Hydro One Sault Ste. Marie LP 2019 Transmission Revenue

EB-2018-0218

Description	Charge Type	Hours	Rate	Amount
Professional Services of				
Shelley Grice	Preparation	22.75	\$290.00	\$6,597.50
	Attendance - SC		\$290.00	\$0.00
	Conferences		\$290.00	\$0.00
	Attendance - OH		\$290.00	\$0.00
	Preparation -ARG		\$290.00	\$0.00
	Case Management		\$170.00	
Sub-Total				\$6,597.50
HST on Services				\$857.68
Disbursements			+	
HST on Disbursements				
GST # 817042757RT0001	<u> </u>	22.75	TOTAL	\$7,455.18

Details are included in the attached time sheet. Please make cheque payable to Shelley Grice.

Sincerely,

Shelley Grice, P. Eng.

Shelley Grice			
PROJECT TIME S	SHEET	DATE	INVOICE
EB-2018-0218		2019-07-20	#A1908
Hydro One Sault St 2019 Transmissior PROJECT TIME SHEE			
DATE	TASK DESCRIPTION	CHARGE TYPE	Hours
2018-09-21	Preparation; Review application; Prepare Letter of Intervention; discuss w/client	Preparation - interrogatories	0.75
2018-11-12	Review & consider evidence; Prepare interrogatories	Preparation - interrogatories	4.50
2018-11-18	Review & consider evidence; Prepare interrogatories	Preparation - interrogatories	4.00
2018-11-19	Review & consider evidence; Prepare interrogatories	Preparation - interrogatories	5.00
2018-11-20	Review & consider evidence; Prepare interrogatories	Preparation - interrogatories	7.00
2018-12-09	Review & consider interrogatory responses	Review - interrogatories	1.50
Total			22.75



Affidavit and Summary of Fees and Disbursements

File # EB-	2018-0218		Process: Hydro One Sault Ste. Marie LP 2019 Transmission
Party:	AMPCO		
	S	ummary of Fees a	and Disbursements Being Claimed
Legal/cons	sultant/other fees	\$	12,705.00
Disbursem	ients	\$	-
HST		\$	1,651.65
Total Cost	Claim	\$	14,356.65

Payment Information

Make cheque payable to: Association of Major Power Consumers in Ontario

Send payment to this address: 65 Queen Street West, Suite 1510

Toronto, Ontario

M5H 2M5



Detail of Fees and Disbursements Being Claimed

File # EB-	2018-0218			Process: Hyd	dro One Sau	ılt Ste. Marie LP 2019	Transmission
Party:	АМРСО			Service Prov	ider Name:	Shelley Grice, P. Eng	
	SERVICE PROVIDER TYPE	(che	ck one)	Year Called to Bar		Completed Year: Practising/Years of Re Experience	
	Legal Counsel					20	
	Articling Student/Paralegal						
	Consultant		$\overline{\mathbf{A}}$			Hourly Rate: \$	330
	Analyst						
	For Consultant/Analyst:		CV attac	ched	HST Rate Ch	narged (enter %): 13	8 <mark>.0%</mark>
		✓	CV prov	ided within previous 2	4 months		

C	tatement o	of Ec	oc Boing	Clai	imad				
3	Hours		urly Rate		Subtotal	Π	HST		Total
Pre-hearing Conference	Hours	110	arry wate	·	Jabtotai		1131		Total
Preparation		\$	330.00	\$	_	\$	_	\$	_
Attendance		\$	330.00	\$	_	\$	_	\$	-
Technical Conference		Τ		_		Ť		7	
Preparation	4.50	\$	330.00	\$	1,485.00	\$	193.05	\$	1,678.05
Attendance	12.00	\$	330.00	\$	3,960.00	\$	514.80	\$	4,474.80
Interrogatories				Ė	,	Ė		-	
Preparation		\$	330.00	\$	-	\$	-	\$	-
Responses	5.00	\$	330.00	\$	1,650.00	\$	214.50	\$	1,864.50
Issues Conference									
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
ADR - Settlement Conference									
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Proposal Preparation		\$	330.00	\$	-	\$	-	\$	-
Argument									
Preparation	17.00	\$	330.00	\$	5,610.00	\$	729.30	\$	6,339.30
Oral Hearing									
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Other Conferences									
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Case Management				\$	-	\$	-	\$	-
TOTAL SERVICE PROVIDER FEES				\$	12,705.00	\$	1,651.65	\$	14,356.65

Shelley Grice, P. Eng.

46 Scarborough Road, Toronto ON M4E 3M5 416-694-3917, shelley.grice@rogers.com

INVOICE #A1909

July 23, 2019

AMPCO
Thomson Building
65 Queen Street West, Suite 1510

Toronto, Ontario M5H 2M5

Attention: Mr. Colin Anderson, President

Re: Hydro One Sault Ste. Marie LP 2019 Transmission Revenue

EB-2018-0218

Description	Charge Type	Hours	Rate	Amount
Professional Services of				
Shelley Grice	Preparation	9.50	\$330.00	\$3,135.00
	Attendance - SC	12.00	\$330.00	\$3,960.00
	Conferences		\$330.00	\$0.00
	Attendance - OH		\$330.00	\$0.00
	Preparation -ARG	17.00	\$330.00	\$5,610.00
	Case Management		\$170.00	
Sub-Total				\$12,705.00
HST on Services				\$1,651.65
Disbursements				
HST on Disbursements				
GST # 817042757RT0001		38.50	TOTAL	\$14,356.65

Details are included in the attached time sheet. Please make cheque payable to Shelley Grice.

Sincerely,

Shelley Grice, P. Eng.

Shelley Grice							
PROJECT TIME		DATE	INVOICE				
EB-2018-0218 Hydro One Sault Ste. Marie LP 2019 Transmission Revenue Requirement PROJECT TIME SHEET							
DATE	TASK DESCRIPTION	CHARGE TYPE	Hours				
2019-01-10	Review & consider interrogatory responses; Prepare Letter re: AMPCO Areas of Interest	Review - interrogatories	2.00				
2019-01-11	Review & consider interrogatory responses	Review - interrogatories	3.00				
2019-01-13	Prepare for Technical Conference	Preparation - Technical	4.50				
2019-01-14	Preparation; Attend Technical Conference Day #1	Attendance - Technical Conference	7.00				
2019-01-15	Listen to Technical Conference Day #2	Attendance -	5.00				

Review Hydro One SSM Argument in Chief; Review

Review evidence; Review undertakings; Prepare

Review evidence; Prepare Final Submission

Review evidence; Prepare Final Submission

Review evidence; Review Board Staff evidence;

Final Submission; Review AMPCO position w/client

evidence: Prepare Final Submission

Prepare Final Submission

2019-03-31

2019-04-02

2019-04-10

2019-04-11

2019-04-12

Total

Technical Conference

Preparation -

Preparation -

Preparation -

Preparation -

Preparation -

Argument

Argument

Argument

Argument

Argument

1.50

2.00

2.75

5.00

5.75

38.50